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SECTION A: BUILDING CONSTRUCTION |
Anvwer TWO guestions from this séction.

I, f{a)  Expluin the imporance of sub-soil investigarion of a sife. (3 marks)

M e e

(hi . {D State three Fictors to consider when designing a siepped foundation,

(1)  Sketch and labela seetiomn through a foundation on a slopping site. (7 marks)

fch State:

{i) Three couses of foundation falure;

{ii}  Four factors that determine timbering 1 trenches. (7 marks)

(y  THusirate the vse of continuous tubular mil 4 a barrier to excavations, (3 murks)

2. (a) St five advantages of cross-walls. (5 munrks) -

(by  Differeatine helween party and separating walls, {4 markg)

{¢)  Explain the purpose for dimensional co-ordinution in the construction industry. L |

(d)  Wath the sid of labelled sketches, state the function of the following: '
{1y Door frame:
{iiy)  Door Eming. (8 marks)

3. {a)  With aid of sketches show the minimim requirements for chinmey stack projection
in the following:

{1) Ridge of o roof:
(i  One slope of a roof; E
(iti)  Flat roof, {4 marks) &

(h)  With the aid of a sketch, describe the construction of a solid ground fioor. {1 marks)

2705105 270105
2707105 &
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Draw a tungent to two éircles 80 mm dismeter and 100 mm diameter respectively and

(<)
with centres 120-mm apart as shown in figure 03. (6 marks)
- B0 mm 100 mm
|__ 1) mm |
i =
Fig. 03
Figure (04 shows a frustrim of hexagonal pyramid,
Drivw;
1) the development 3
(ii)  the plan
(i}  elevation R
{iv)  the true shape
(v} the given elevation. {20 marks)
5
e
£
o
£
1o
Ll
e
1t |
T0 mm
ELEVATION
Fig, 04
g BB | BeisERs
27051105 27097105 :
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Figure 05 i5 a machine block 20 mm thick. Draw the auxiliary views A and B.
{8 marks)

G. (1)
T ie L S
H_.i (by  Determine the true length of & line AB = 100 mm inclining at 45” to the horizontal
plane as shown on figure 06, {4 marks)
B
- 08 - 13
5 A
: o =
et TR E
: : *
A
Horizonltal plane
Fig. 06
9 {e)  Figure 07 shows a slider mechanism. Draw the full size of the component and plot the
Iocus of the poimt © (¥ muarks)
: B ﬁ 20 mm
;g. 7
Bmm, AB = 150mm, AL =50 mm
Fig.07
2705105 ZT0W 105
27077105 - Turn over
— ——— — ——————
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